YRAU—20
( Fram—s6 (7) <RaT )

arf~as aRem o= (WRT—1)
02— Tedrd Gy fateq &3 9 e 9w & forv fMats—2014

95225

HA FAcKd 3w (Afde Al |fed)—

fr=foRag @ e & o ™ Rftm= 7ai @ =

04—

= S fas &3 @ 9¥r 9 AM—

& 1o Lobpjty

15

Lk

14

57

194

272

151

260

161

462

169

387

293

219

530

297

652

369

107

P

13

10

10

ezl
b bk Bhjizljit

12

bk kelkBlb] RE

11

57

191

268

151

260

159

452

169

384

283

216

525

295

648

362

107

Bibfile by

10

(012040R)
3ial 3R] ik

hlh RSie

Utk hbie

3R Lkl (019)

phale 1aze3

10

bblx
3R] @2 (012)

35

50

72

82

81

52

145

36

151

159

86

177

106

157

141

37

(o5
Lok 2i3lR) Rjie)
1850k Bab Lbfy

(0xjoy) Bakin Aog)

20

123

182

50

156

97

274

128

202

110

118

321

181

449

198

60

el 2Ry Bk

10

2k 2l s

14

AT I P

REIRCRSNECIC
NEICRCUIC]

RRIRCRN]

SUSRIACRSIGI

RCIRCRSCIE

SRR A

R EIGEICE]
NERCERE

R AR

RLYATIARTST
SR IR
R[S BLISHTT

T AT

BRI C Ik
R IACR RSN
RTAT TR

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16




YRAU—20
( Fram—s6 (7) <RaT )

arf~as aRem o= (WRT—1)
02— Tedrd Gy fateq &3 9 e 9w & forv fMats—2014

95225

HA FAcKd 3w (Afde Al |fed)—

fr=foRag @ e & o ™ Rftm= 7ai @ =

04—

= S fas &3 @ 9¥r 9 AM—

& 1o Lobpjty

15

Lk

14

473

51

551

359

353

249

348

504

568

335

303

607

146

193

209

217

P

13

10

ezl
b bk Bhjizljit

12

bk kelkBlb] RE

11

473

48

545

356

350

249

345

501

561

325

301

598

145

191

205

214

Bibfile by

10

(012040R)
3ial 3R] ik

hlh RSie

Utk hbie

3R Lkl (019)

phale 1aze3

10

16

bblx
3R] @2 (012)

81

13

343

100

101

84

110

200

141

74

47

260

31

86

112

61

(o5
Lok 2i3lR) Rjie)
1850k Bab Lbfy

(0xjoy) Bakin Aog)

378

32

184

243

226

158

217

282

392

225

234

266

110

91

84

132

el 2Ry Bk

10

12

33

2k 2l s

2

AT I P

YT ARarST

SR IRCAEDI

G ACIRS K G )
@ f[q®1, SelEe

SR IRCRSIEIG )

&3, SelHe

YT, SIRIs (o)

e srer

MR IRCRSISL
R RCA R
MR IRCH

e gi—a_ren
114 (T2 e T

SRR CRICICEIC]

SRR LR

17

18

19

20

21

22

23

24

25

26

27

28

29

30

31

32




YRAU—20
( Fram—s6 (7) <RaT )

arf~as aRem o= (WRT—1)
02— Tedrd Gy fateq &3 9 e 9w & forv fMats—2014

95225

HA FAcKd 3w (Afde Al |fed)—

fr=foRag @ e & o ™ Rftm= 7ai @ =

04—

= S fas &3 @ 9¥r 9 AM—

& 1o Lobpjty

15

Lk

14

281

233

170

112

364

147

160

244

223

85

443

279

168

86

P

13

14

ezl
b bk Bhjizljit

12

bk kelkBlb] RE

11

279

233

170

110

358

145

159

238

221

84

429

270

165

85

Bibfile by

10

(012040R)
3ial 3R] ik

hlh RSie

Utk hbie

3R Lkl (019)

phale 1aze3

bblx
3R] @2 (012)

84

72

84

150

45

20

86

37

21

188

22

25

16

(o5
Lok 2i3lR) Rjie)
1850k Bab Lbfy

(0xjoy) Bakin Aog)

174

146

81

100

188

89

133

132

162

56

210

223

129

59

el 2Ry Bk

2k 2l s

AT I P

03,1305

YL, Aol

R IR IR
AT SO Heolt
AT SO Toolt

MR IRCREIEC]
TuTfa g

MR AR RCE]

SR IRCRYECI I

SIRIRCAC R ]

uTfa gas

SRR

R R CASH|

NI CRCDIL]

MR IACH

RRIRCRE]

33

34

35

36

37

38

39

40

41

42

43

44

45

46

47

48




Uray—20

( Fram—s6 (7) <RaT )

arf~as aRem o= (WRT—1)
02— Tedrd Gy fateq &3 9 e 9w & forv fMats—2014

feem | fatE &= o S 9 - 04— FEIATI Bl waardrEl @ we (Gfde Aaaranel wfa)— 95225
frfoRed @ we & Y T M= wai 31§
g% |€ BE |& & FIE k
gk FEE | B B ; Flog % E
1 2 3 5 6 7 8 10 11 12 13 14 15
49 [RruTfdser 0 5 123 38 1 4 0 1 2 0 174 4 178
50 [Rrsmfaers 1 1 147 92 1 1 1 1 5 2 252 5 257
51 [Rrumfash T 178 108] 14 4 1 8 2 4 323 9 332
52 [MHLisres-Ugs R 175 110 4 1 1 1 1 0 297 1 298
53 |U9TOT WA Yol 2 0 105 39 2 1 0 0 0 0 149 1 150
54 [IZHLUTGHIER 2 4 333 217 6 11 1 2 4 1 581 6 587
64 [Rrurfaara 3| 10 171 135 6 0 2 3 2 0 332 2 334
65  [RTSLET.awrel 3 1 191 116 3 3 4 1 3 0 325 4 329
66 (N3 PLIBX 1 5 277 181 7 5 1 5 9 3 494 4 498
67 [RruLfaser 9 2 138 179 7 4 1 4 2 5 351 4 355
68 [RruLfARIAT 4 2 277 120 3 4 2 2 11 2 427 9 436
69 [RruTfd.CerETaTe 0 2 117 66 2 0 0 1 2 1 191 6 197
70  [WATfAERTSI-BUSy 6 3 156 92 5 1 0 1 2 1 267 3 270
71 [RrurfaatAarer 0 0 123 23 1 0 1 2 2 0 152 6 158
72 [WmfAegs 4 3 138 120 4 4 1 0 3 1 278 3 281
73 [RIST®II $7eX Bleiol, Sl 1 9 132 51 2 0 1 2 3 0 201 0 201
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74 [RuoTAgTIgen of =5 325 11| 15 9 3 6 5 4 692 19 711
75 [RIHTfASRETT 5 4 251 138 7 6 3 0 5 1 420 3 423
76 [RTUTfd<qerER 3 6 375 262 10 10 5 5 6 3 685 11 696
77 [oTfaER 1 3 313 173 8 1 3 3 3 7 515 9 524
78 [MTfgrs(@d—1) 5 1 313 229 5 6 1 0 1 1 562 7 569
79 [IRIgTS(@dE—2) 4 3 95 74 2 3 0 0 1 0 182 2 184
80 [NruTfdgsa 2| 3 157 96 2 4 0 2 3 0 269 4 273
a1 JOONEL R OIS | 12l 16 ool 267l 16 3 1 = a4 s o] 608
811 bONe eIy W& 4| 5 . 3 1 5 1 . 1 219 5 224
82 [Jkikfo-jkyh XokM 1 2 128 105 4 3 0 3 4 2 252 1 253
83 [Jkikfo-ce: Hdh 3| a4 257 108 3 2 1 4 1 1 384 6 390
84 |JkEgr]L;lK 0 5 11 37 1 1 0 1 0 0 56 2 58
85 [Jkikfo-dl ediv 1 5 245 206 7 5 3 5 4 2 483 7 490
86 |JkikfoMx 1 3 115 37 1 3 0 1 1 1 163 3 166
87  |Jkikfo-uXotM hd-u-&1h 6| 3 110 156 2 9 2 0 1 0 289 3 292
88 |Jk-Tkfo-ukoM id-u-&2t 16| 4 132 156 3 9 0 0 0 0 320 3 323
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89 [Jkikfo-xki’oj d-u-&1h 6| 4 203 94 2 3 0 0 1 0 313 3 316
90  (JkTkfodd-u-&2h xkiroj 4 s 159 104 1 5 0 0 0 0 278 3 281
91 [Jeikfo-xkiroj d-u-&3t 6| 7 268 178 5 3 0 0 0 1| aes 1 469
92 [JrepUn KW vin’k fo]k efinj] xki”oj 1 1 159 47 2 1 0 0 0 0 211 1 212
93  [Jkb-dkxki’oj id-u-&1h 6| 2 264 175 2 5 3 3 1 0 461 3 464
94  |Jkb-dk[xki’oj kd-u-&2t 50 0 311 242 1 2 0 0 0 0 561 4 565
95 |Jkb-dkxki’oj 4d-u-&3t of 1 114 87 2 11 0 0 0 0 224 4 228
96  |Jxb-dixki’ojfid-u-&4h 12 1 209 160 1 6 1 1 0 0 391 5 396
97 (Jrikfo-11B;ky/kj 4 6 198 204 5 9 1 3 0 1 431 5 436
98  |Jk-1kfo-TkMyn 7 5 228 199 10 9 0 5 7 3 473 4 477
99  (Jkb-dkvYdKijh 3 2 281 230 6 2 1 3 1 2 531 2 533
100 (Jrikfoflyx 3 1 117 201 5 1 2 1 3 3 337 3 340
101 |Jkikfo-Nidkv 12 4 221 113 2 1 1 2 5 0 361 4 365
102 |Jkikfo-*MEky 1l 2 188 79 2 1 1 0 3 4 281 6 287
103 |Jk-Tkfo-cigh 71 3 154 163 5 2 4 3 1 3 345 3 348
104  [fo-[k-dk|pekyn of 2 170 199 5 10 0 1 1 0 388 1 389
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105  [Jk-TkfoHderyx N 122 102 0 2 1 5 3 1 239 5 244
106  |Jkb-dk[Nudk id-I+-&1% 6| 3 172 165 6 2 5 3 4 4 370 3 373
106 1 |Jkb-dk|fNudk 4d-1-&24 T 110 119 4 4 0 0 3 o| 244 8 252
107 |Jkikfo-chyk 17 4 115 o1 4 2 1 0 2 1 237 6 243
108 |Jk-Ikfo-tlky 1 1 98 8 0 0 1 0 1 0 110 1 111
109 |Jkikfo-drEnkFun 6| =5 135 105 4 3 2 2 4 3| 260 6 275
110 |Jk-ikfo-[ujh 3l 3 206 118 7 3 3 0 9 o| 354 5 359
11 |Jkm]ix toldxHheryx 1l o 58 36 1 0 0 0 0 0 96 0 96
112 |jkikfo-gjeut 2 3 227 108 4 4 6 2 4 1 361 2 363
113 [Jkikfo-yklIh 2 2 180 135 7 1 0 7 0 1 335 5 340
114 |Jk-akfo-FeMxx 3| 3 238 130 4 4 1 2 2 0 387 5 392
115 | Jk-Tkfo-xiMh 2| 2 138 62 1 0 0 0 3 0 208 1 209
116 |Jk-Tkfo-CkViyk 5 1 207 135 0 2 0 1 3 0 354 3 357
117 |Jkikfofcjgh 1 0 104 55 0 3 1 4 4 1 173 1 174
118 |Jk-Tkfo-|Yorg&nxkyn 3 6 218 125 6 19 2 4 8 3 394 2 396
119 |Jrakfo-xMak N 198 1200 14 8 0 2 5 of 356 6 362
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120 |Jknkfo-uky [Kinhny diVie of 7 306 276 5 3 1 3 3 0 613 3 616
121 |Jed-Eg]jriyn 4 5 119 63 0 3 0 1 2 2 199 2 201
122 |Jkikfofdzyn T 76 188 6 3 0 2 3 1| 288 1 289
123 |Jkikfo-dEsKj of 2 92 14 0 2 0 2 2 0 114 1 115
124 |Jk-akfo-Djgk.n 1 1 199 65 4 1 1 0 3 0 275 5 280
125  |Jkikfo- nen 6 3 145 03 5 1 4 3 5 1 266 4 270
126 (Jkkfo-XK.K 0 2 140 87 5 2 2 2 4 1 245 4 249
127 [0k pd WGde | o 2 e e I R 0 3 i 1 o 130
128 |Jk-Bkfo-Ik.Kk 2| 4 136 65 7 1 1 0 4 3 223 10 233
129  |[jk1kfo-gtV 1 1 92 64 2 0 0 2 3 0 165 1 166
130 [Jkikfol;kk pd i 51 4 212 146 2 0 2 5 4 0 380 9 389
131 |JkIkfofuteyk 3 1 113 73 3 2 2 3 3 1 204 7 211
132 |Jk1kfo-DonBh 1 6 154 87 3 0 0 0 0 0 251 1 252
133 [Jlikforkyn yxk Xy of 1 75 8 0 0 1 0 1 0 86 1 87
134 |Jkakfo-Jux 5 5 178 121 4 2 0 5 4 1 325 4 329
135 | Jk-Tkfo-celFk 51 4 234 132 4 4 2 3 3 0 391 2 393
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136 [Ipk;r Kou Uxi 1l 1 184 50 2 0 0 1 0 1 249 2 251
137 (Jrm-efo- jelyk 1 3 238 123 2 2 2 3 5 1 380 2 382
138 |Ji-ikfo-[kK [ky of o 149 47 3 1 0 0 5 1| 206 0 206
139 (Jk1kfo-TiehXokM 3 3 198 81 3 1 1 3 1 0 294 3 297
140  [Jk-1kfo-flokb 1l 3 272 174 5 4 1 3 4 3 470 3 473
141 (Jkikfo-Nj .k 1 2 149 81 3 0 1 2 3 1 243 0 243
142 (Jkikfo-, kI of o 88 73 1 3 1 1 4 3| 174 2 176
143 |JkakfofEykl 3 6 105 117 6 1 0 3 2 1 244 1 245
144 |Jkikfof>yivh of 4 52 36 0 0 0 0 1 0 93 1 04
145 |Jk-ikfofxj IX 1 1 111 107 10 4 2 1 2 0 239 1 240
146  [Jk-1kfo-mRrjK %d . Mkjnxkok 4 3 141 158 6 2 1 2 2 2 321 1 322
147 |JrIkfO-VAY! 19 1 119 03 6 3 2 4 6 2 255 5 260
148 |Jk-ikfo-dk.Mb 0 4 122 42 1 2 1 0 5 2 179 2 181
149  [Jkikfo-d kN 2 4 176 50 0 1 2 2 3 1 241 7 248
150 |Jk-Hkfo-1.K 1l o 92 19 2 1 0 0 1 1 117 5 122
151 |Jk-Tkfofoux< 3 3 168 79 3 0 0 2 1 2 261 4 265
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152 | Jk-Tkfo-mMkekUMk 6 o0 92 158 5 2 1 0 0 1 265 1 266
153 (JkikfofHukA TYyk of 1 116 90 3 1 0 2 1 0 223 0 223
154 |Jk-ikfo- noj 19 6 99 148 6 3 1 1 0 o| 285 5 290
155 | Jk-1k-fo-dk.Mb[kkyk 1 2 74 55 2 0 0 0 0 0 134 5 139
156 |Jk-1kfo- re.Mi 2l o 111 57 3 1 1 1 0 1 177 3 180
157  [Jkikfofoj B.k 2 1 52 42 3 0 1 0 1 2 104 2 106
158 |k ikfo-pK. M o 3 147 119 5 1 1 2 6 2 288 4 202
159 |Jr-akfo-JHr 18 7 227 71 1 12 0 5 1 1 343 5 348
160  |Jk-1kfo-exydkVh 0 0 0 0 0 0 0 0 0 0 0 0 0
161 | Jkikfo-TkxBk 5 9 232 62 4 6 1 1 1 1| 322 1 323
162 |Jk-Tkfo-xknhixokyk R 132 38 2 7 0 4 3 1 191 5 196
163 |Jk-Ikfo-che.kFikyk 4 s 153 85 3 6 1 1 3 3 264 7 271
164 |Jk1kfo-FikykcM 2 6 216 46 0 1 0 2 9 1 283 3 286
165 |JkE-gk]gfj’kd] 1l 1 76 28 1 0 1 1 1 0 110 1 111
166 |JkIkfo-xfu;kyk of o 55 30 2 0 0 0 0 0 87 1 88
167  (Jrikfo-oYyn 4 1 166 116 8 2 1 2 5 3 308 3 311
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168 | Jk-Hkfo-[Kuh 2 1 165 49 3 2 1 3 5 1 232 2 234
169  [Jk-nkfo-nk[kph 4d{k 10 1% 6 7 344 204 5 3 0 4 3 0 576 2 578
170 |Jkikfo- Ik[kd{k §O 24 ol o 230 129 5 4 0 0 0 2 381 4 385
171 (Jkikfofo’kky 23 2 141 107 4 4 0 1 1 0 283 2 285
172 |JkIkfo-1kc of o 45 71 3 1 4 1 0 0 125 2 127
173 |Jkikfofo’iky [y 5/ 70 169 114 5 5 0 2 3 1 374 3 377
174 |Jk-ikfo-fHkdlkuk 13 7 152 148 3 4 3 0 3 1 334 3 337
175 [Ipk;T Hou cxkHy 2| 4 122 87 3 4 0 2 1 2 227 4 231
176 |Jktdn; bVj diyrt jMok | a7| 4 171 206| 10 3 1 2 3 1| 438 5 443
177 |Jkikfo-Mx] N 105 103 2 4 0 1 1 3| 223 1 224
178 |Jk-akfo-eKgkHh 106 6 49 132 6 1 0 0 3 2 305 4 309
179 |Jk-TkfofdelBk 8 o 96 42 1 1 1 1 0 0 150 1 151
180  |Jkikfo-rk.kth of o 1 2 0 0 0 0 0 0 3 0 3
181 |jkikfo-Tyuk 5 4 169 213 14 1 1 1 4 5 417 6 423
182 (Jktgklelkyn 17 4 68 254 13 4 2 4 2 4 372 11 383
183 |Jk-ikfo-xMe 3 5 150 77 2 2 1 3 4 0 247 5 252
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184 |Jrikfot[keryk 1 1 235 85 6 0 1 3 7 2 341 6 347
185 [Jrtgrldy dylij 35 4 166 94 5 2 3 2 3 1 315 4 319
186 |Jkikfo-uy TE: 158 56 1 4 2 3 4 3| 234 6 240
187 |Jkikfo-uky? 4 1 89 56 5 1 1 1 0 0 158 2 160
188 |Jkikfo-uy ,Fk 5| 11 99 92 2 2 2 0 2 2 217 5 222
189 |jkukfo-Tkdjh 51 2 123 97 5 0 0 0 2 1 281 2 283
190  (Jkikfofrkyk 0 2 35 54 0 3 0 1 4 1 100 2 102
191 |Jkb-dk-non[kr 3l 2 77 41 4 2 0 0 4 2 135 3 138
192 |Jkikfo-0n. Kk 15| 4 130 40 4 1 0 1 4 0 199 7 206
193 |Jkikfo-TkMexjk 8 8 141 67 4 1 1 1 2 0 233 3 236
194 |Jk-Tkfo-xtEM 1 1 65 16 1 2 0 0 0 0 86 1 87
195 | Jk-TkfoHnMK 1l o 82 25 2 1 1 0 0 0 112 0 112
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